UNIVERSITY OF CAMBRIDGE INTERNATIONAL EXAMINATIONS International General Certificate of Secondary Education

# www.papacambridge.com MARK SCHEME for the May/June 2009 question paper

#### for the guidance of teachers

#### 0417 INFORMATION AND COMMUNICATION **TECHNOLOGY**

0417/02

Paper 2 (Practical Test A), maximum raw mark 100

This mark scheme is published as an aid to teachers and candidates, to indicate the requirements of the examination. It shows the basis on which Examiners were instructed to award marks. It does not indicate the details of the discussions that took place at an Examiners' meeting before marking began, which would have considered the acceptability of alternative answers.

Mark schemes must be read in conjunction with the question papers and the report on the examination.

CIE will not enter into discussions or correspondence in connection with these mark schemes.

CIE is publishing the mark schemes for the May/June 2009 question papers for most IGCSE, GCE Advanced Level and Advanced Subsidiary Level syllabuses and some Ordinary Level syllabuses.

Page 2	Mark Scheme: Teachers' ver	sion S	yllabus
	IGCSE – May/June 2009		0417
			yllabus 0417
COLORADOR FOR THE STATE OF THE STATE OF THE STATE	ne work incomer building provided by Control in According		
Edit Vien Epiyorkes			
fas - N	and the second second second second second second	13	
Mite () Mite () Miteraren 194	a second contract of W	101	· · ·
Vou search			-
Prosenes 1414	and the second s		10
This searc	ch found 1 matches.		
			8
J9SA filena	ALES.RTF 64k To save the files to your computer. V	Vindows - right citcle on	
00	: http://www.hothouse-design.co.uk/search2009/do/		
00	ti		
00	http://www.hothouse-design.co.uk/search/2009/do		
00	Pages: Search		
00	nttp://www.hothouse-design.co.uk/search/2009/do Pages: Search [Jitumer PTF	enicadJ3Paper219mi	
00	Match A	enicadJ3Paper219mi	

Screenshot Search web site and file saved or ready to save 1 mark



Centre no

Centre number centred

Candidate number right

Name left

Cand name

This is our first quarter report for the specialist holid Header offer in Europe and now in the Caribbean. In the rep all to align +/- 5mm date information on the chosen locations, sales and

tours. You will see that the new sales staff have performed well and that we have a great season ahead of us. The locations we are using are:

www.papaCambridge.com 1 mark destinations in the coming months and are 1 mark llent hotels with all the facilities that our gues 1 mark At the moment we have not finalised our contract

We plan to use this picture of our next mystery destination in our new brochure:





The nu	mber of sales made by each member of staff is shown as a cha	art
here. V	/e would like to congratulate Joan Peters of the Strand office.	



26/11/2008

26/06/2008 22/07/2008

Angel

Felipe

Frances

Robles

Dorland

Stirland

Strand

Strand

**Regent Street** 

		heme: Teachers' ver		ibus ?? er
	IGCSE – May/June 2009 0417			17 230
				2116
Microsoft Access				bus 17 anacannun 17 Type a question for heb
jle Edit Yjew Insert I	ools <u>Wi</u> ndow <u>H</u> elp			Type a question for help
1.000000	X & (10-10-10 B) 3-3			
률 rune 89 worked : 1	atabase (Access 2000 tile format)			
A STATE OF		and the second sec		and the second
ing Open ₩_Design in	<u>N</u> ew   X   <sup>2</sup> 2 ;= ;:: <b>1</b>			
🗐 June09sales1 ;	Table			
Field Name	Data Type		Description	A
L Staff Date	Text Date/Time			
Booking	Text			
Week	Number			
Price Number	Currency Number			
Tour	Yes/No			
	i cojne			
TOUR		Corre	ect field names	1 mark
				1 man
			types	
		Data		1 mark
		Data Date		1 mark 1 mark

Check name and numbers are on printout

Page 7	Mark Scheme: Teachers' vers IGCSE – May/June 2009	Syllab 0417	rus Ager 7 Ages	
Week 37 S	Sales			nus 7 Canada 7 Canada C
Date Staff	Booking	Price	Number	Income
01/01/2009 AR	ALMGLP	£399.00	7	£2,793.00
01/01/2009 PB	JGBEXC	£195.00	7	£1,365.00
03/01/2009 ST	GCAPRG	£599.00	3	£1,797.00
08/01/2009	JGBEXC	£195.00	3	£585.00
09/01/2009	ALMGPL	£399.00	4	£1,596.00
09/01/2009 .	GCAPRG	£599.00	2	£1,198.00
11/01/2009 L	JGBEXC	£195.00	3	£585.00
	100% correct	£105.00	2 1 mark	£390.00
Heading Page	Orientation is portrait		1 mark	£2,394.00
Search	Week =37 only (not displayed)		1 mark	£1,596.00
Sort Fields	Ascending order of Date Only these (may be any order)		1 mark 1 mark	£1,995.00
Data and labels	Is Fully visible for all fields and colum	n headings		£780.00
Fits	1 page wide		1 mark	£2,793.00
28/01/2009 JP	ALMGPL	£399.00	6	£2,394.00
30/01/2009 LM	ALMGPL	£399.00	6	£2,394.00
31/01/2009 AR	ALMGPL	£399.00	4	£1,596.00
01/02/2009 RD	ALMGLP	£399.00	2	£798.00
01/02/2009 AR	GCAPRG	£599.00	2	£1,198.00
02/02/2009 LM	ALMGPL	£399.00	5	£1,995.00
03/02/2009 FD	ALMGPL	£399.00	5	£1,995.00
07/02/2009 JP	ALMGPL	£399.00	4	£1,596.00
07/02/2009 RD	ALMGLP	£399.00	2	£798.00
09/02/2009 JP	JGBEXC	£195.00	3	£585.00
13/02/2009 AR	ALMGPL	£399.00	4	£1,596.00
13/02/2009 LM	ALMGLP	£399.00	3	£1,197.00
13/02/2009 PB	JGBEXC	£195.00	3	£585.00
15/02/2009 JP	ALMGLP	£399.00	6	£2,394.00
17/02/2009 FS	ALMGPL	£399.00	3	£1,197.00
18/02/2009 RD	JGBEXC	£195.00	2	£390.00
19/02/2009 LM	GCAPRG	£599.00	2	£1,198.00
05 August 2007			,	Page 1 of 3
Name, centre no,	, candidate no.			
$\wedge$	Income field is called income field disp		urrency 2dp	2 marks 1 mark
	$\mathbf{X}$			

age 8	Mark Scheme: Teachers' version IGCSE – May/June 2009		Syllabus 0417	
			041	Syllabus   0417   Number Income   3 £1,197.00   6 £3,594.00   6 £1,170.00   7 £2,793.00
Date Staff	Booking	Price	Number	Income
22/02/2009 AR	ALMGPL	£399.00	3	£1,197.00
22/02/2009 JP	GCAPRG	£599.00	6	£3,594.00
23/02/2009 RD	JGBEXC	£195.00	6	£1,170.00
24/02/2009 AR	ALMGPL	£399.00	7	£2,793.00
27/02/2009 FD	JGBEXC	£195.00	3	£585.00
28/02/2009 FS	JGBEXC	£195.00	2	£390.00
28/02/2009 PB	ALMGLP	£399.00	7	£2,793.00
02/03/2009 PB	JGBEXC	£195.00	5	£975.00
04/03/2009 FS	ALMGLP	£399.00	3	£1,197.00
05/03/2009 PB	ALMGPL	£399.00	5	£1,995.00
05/03/2009 JP	ALMGLP	£399.00	7	£2,793.00
08/03/2009 JP	ALMGLP	£399.00	5	£1,995.00
09/03/2009 ME	ALMGPL	£399.00	3	£1,197.00
13/03/2009 RD	ALMGLP	£399.00	4	£1,596.00
13/03/2009 FS	ALMGPL	£399.00	3	£1,197.00
14/03/2009 FS	ALMGLP	£399.00	3	£1,197.00
15/03/2009 FS	ALMGPL	£399.00	4	£1,596.00
15/03/2009 PB	ALMGPL	£399.00	4	£1,596.00
15/03/2009 JP	JGBEXC	£195.00	6	£1,170.00
16/03/2009 FS	ALMGLP	£399.00	7	£2,793.00
16/03/2009 AR	JGBEXC	£195.00	4	£780.00
17/03/2009 FD	GCAPRG	£599.00	2	£1,198.00
17/03/2009 JP	ALMGLP	£399.00	4	£1,596.00
18/03/2009 AR	ALMGPL	£399.00	2	£798.00
18/03/2009 RD	ALMGLP	£399.00	7	£2,793.00
19/03/2009 FD	ALMGPL	£399.00	3	£1,197.00
19/03/2009 AR	JGBEXC	£195.00	5	£975.00
21/03/2009 PB	ALMGLP	£399.00	2	£798.00
21/03/2009 FS	ALMGPL	£399.00	3	£1,197.00
22/03/2009 ME	ALMGPL	£399.00	2	£798.00
22/03/2009 ST	ALMGLP	£399.00	3	£1,197.00
24/03/2009 JP	ALMGPL	£399.00	6	£2,394.00

4

05 August 2007

Page 2 of 3

Name, centre no, candidate no.

Date Staff	IGCSE – May/June	2009	041	
Date Staff				°C.
	Booking	Price	Number	Dus 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7
26/03/2009 RD	JGBEXC	£195.00	6	£1,170.00
26/03/2009 ST	ALMGPL	£399.00	7	£2,793.00
28/03/2009 ME	ALMGLP	£399.00	5	£1,995.00
29/03/2009 JP	ALMGPL	£399.00	2	£798.00
29/03/2009 FD	ALMGLP	£399.00	2	£798.00
31/03/2009 JP	ALMGPL	£399.00	6	£2,394.00
		<b>Total Income</b>	<mark>e</mark>	£103,261.00
3 new recor	rds added 3 marks			

05 August 2007

Name, centre no, candidate no.

## Mark Scheme: Teachers' version IGCSE – May/June 2009

### Mini tours booked

<b>-</b> 40			32
Page 10	Mark Scheme: Teache IGCSE – May/Jun		Syllabus 0417
			36
Mini to	urs booked		Syllabus 0417 Number 7
Staff	Date	Booking	Number 8.9
FD	02/01/2009	ALMGPL	7
JP	03/01/2009	ALMGLP	6
AR	05/01/2009	GCAPRG	6
PB	05/01/2009	ALMGPL	7
AR	06/01/2009	ALMGPL	4
AR	10/01/2009	GCAPRG	6
FD	10/01/2009	ALMGLP	2
FS	10/01/2009	ALMGPL	4
RD	10/01/2009	ALMGPL	2
ST	10/01/2009	JGBEXC	4
PB	11/01/2009	JGBEXC	7
RD	12/01/2009	ALMGLP	2
JP	14/01/2009	JGBEXC	2
LM	16/01/2009	ALMGPL	5
ST	17/01/2009	ALMGLP	5
JP	20/01/2009	ALMGLP	3
ME	23/01/2009	ALMGLP	3
JP	24/01/2009	JGBEXC	7
ST	25/01/2009	ALMGPL	3
RD	26/01/2009	JGBEXC	7
RD	26/01/2009	JGBEXC	2
RD	27/01/2009	GCAPRG	6
ST	27/01/2009	ALMGPL	4
JP	28/01/2009	ALMGLP	3
ST	29/01/2009	ALMGLP	5
FD	31/01/2009	ALMGPL	7
		N	ame, Centre no, candidate no
Heading	100% correct		1 mark
Page Search	Orientation is portrait Week 35 (not seen)		1 mark 1 mark
	Between 01/01/2009 and	31/01/2009	1mark
Sort	Tour = Yes Ascending order of Date t	hen ascending order (	1 mark of staff 2 marks
Fields	Only these four fields with fully visible for all fields ar	data and labels	1 mark
0: Candidate	details Bottom right		1 mark Page 1 of 1

